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Question Number : 1 Question Id : 43417822485 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Development proceeds in the direction of the longitudinal axis. This principle of development is

called principle of
Options :

1. Proximodistal
2. Interrelation

3. Cephalocaudal

4. Continuity

Question Number : 1 Question Id : 43417822485 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 43417822486 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Contemporary theorists consider ‘Childhood’
Options :

1. as a social construction

2. as a scared period in all cultures

3. as a period of great stress and anxiety

4. as a period of development till the age of puberty.

Question Number : 2 Question Id : 43417822486 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 43417822487 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Progressive Education:

Options :

1. respects diversity

2. ignores individual differences

3. uses standardized assessment

4. ability- based fixed grouping promotes

Question Number : 3 Question Id : 43417822487 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
TEte e ST
Options :

1 Tafarerareti = a=1=

"
5 qTehThd 3Tt 3hT SSHTe

. THEaT_e T fRer HHj;'lmw FT T

Question Number : 4 Question Id : 43417822488 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The basic assumption of child centered pedagogy is that:
Options:

1. the best way to encourage students to learn is through use of rewards and punishment



2. the experiences and perspective of students should be taken into consideration while teaching
3. learning is directed and controlled by the environment.

4. learning needs to be solely centered around textbooks

Question Number : 4 Question Id : 43417822488 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 43417822489 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

and are secondary agencies of socialisation

Options:

1. School; family

2. Family; mass media
3. Religion; family

4. School; media



Question Number : 5 Question Id : 43417822489 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 43417822490 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget, at which stage child develops hypothetical deductive reasoning; and

scientific thinking begins to emerge?
Options:

1. formal operational

2. Sensori-motor

3. Concrepte operational

4. Pre-operational

Question Number : 6 Question Id : 43417822490 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 43417822491 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following are the four factors that influence development according to Jean Piaget?
Options :

1. Maturation, activity, social experience, equilibration

2. Organization, equilibration, adaptation, culture tools

3. Culture, language, social interaction, Per tutoring

4. Positive and negative reinforcement, presentation and removal punishment

Question Number : 7 Question Id : 43417822491 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 43417822492 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Lev Vygotsky theory, is the area between the child’s independent
performance and the level of performance that the child could achieve with adult guidance or by

working with a more knowledgeable peer.
Options:

1. Zone of advanced development

2. Zone of significant development

3. Zone of mental development

4. Zone of proximal development

Question Number : 8 Question Id : 43417822492 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 43417822493 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Lev Vygotsky, is the foundation of all higher cognitive process.
Options :

1. language

2. equilibration

3. adaptation

4. organization

Question Number : 9 Question Id : 43417822493 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 43417822494 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Carol Gilligan's primary critique of Lawrence Kohlberg's theory of moral development-
Options:

1. is situated in the ‘feminist’ perspective

2. is that his theory is not based on research conducted on children.

3. is that his theory does not propose distinct states of moral development

4. his theory does not make linkages in the cognitive capabilities of children.

Question Number : 10 Question Id : 43417822494 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 43417822495 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Nisha can detect and respond appropriately to the moods of her friends and family members and
wishes to become a Psycho-therapist. Which kind of intelligence she possesses and should further

develop?
Options :

1. Spatial intelligence



2. Interpersonal intelligence
3. Naturalist intelligence

4. Fluid intelligence

Question Number : 11 Question Id : 43417822495 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T 10T TR e o1fe UTC o Hawa o) SFTesT o1 9 i & S FUTaM STt et 2| 92 521 2
TR e G ST €, 9 9 6 1 91, & O ¢ (e 38 T M e e -
Options :

| T e

, ST i

(i

™ [
HRTHTEehAl SI5,
4. 2

Question Number : 12 Question Id : 43417822496 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To break gender stereotypes carried by students, a teacher should:
Options:

1. let students carry on with those stereotypes

2. share various examples that challenge those stereotypes

3. make fun of students who express such stereotypes

4. reduce their marks in assessment of academic domain



Question Number : 12 Question Id : 43417822496 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 43417822497 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Children coming from marginalized families are often neglected in a classroom even when they
perform well. Which of the following set of reasons are responsible for such behaviour in a

classroom?

i. Teachers are often prejudiced towards children belonging to marginalized groups.

ii. There is a lack of sensitization among the peers towards diversity and the social context of such

children.

iii. Children from marginalized groups are denied education under the Right to Education Act

20009.
Options :

1. (i), (ii) and (iii)



2. (i) and (iii) only
3. (i) and (ii) only
4. (i) and (iii) only

Question Number : 13 Question Id : 43417822497 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 43417822498 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As per national education policy 2020,the form of assessment in schools should shift from

to

Options :
1. summative, formative

2. formative; summative



3. learning; rote memorization

4. flexible approaches ; rigid standardized testing.

Question Number : 14 Question Id : 43417822498 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 43417822499 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following will be helpful to assess critical thinking skills among students.
Options:

1. Multiple choice based Quiz

2. One-word fill in the blanks for definitions

3. Contextualized reflection based Questions

4. Recall based short Questions

Question Number : 15 Question Id : 43417822499 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 43417822500 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To successfully include students with Dyslexia, which of the following should be avoided?
Options:

1. Multi-sensory pedagogical approches

2. Standardized assessments

3. Individualized goal sets

4. Flexible curriculum

Question Number : 16 Question Id : 43417822500 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 43417822501 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following practices promotes inclusion in the context of children with disabilities?

i. Barrier free access
ii. Assistive devices and appropriate technology- based tools
iii. Choice of regular or special schooling as well as home - based education

iv. Uniform structured curriculum and means of assessment
Options:

1. (i) (i) (iii)

2. (i) (i) (iv)

3. (i) (iii) (iv)

4. (ii) (iii) (iv)

Question Number : 17 Question Id : 43417822501 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. (1), (11), (111)

, (0. (i), (iv)
5. (i), (i), (iv)

4. (i1), (ii1), (iv)

Question Number : 18 Question Id : 43417822502 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Traits such as divergent thinking, originality in ideas and potential for novel production are

associated with
Options :

1. Creativity

2. Learning Disability
3. Autism

4. Attention Deficit Hyperactivity Disorder

Question Number : 18 Question Id : 43417822502 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 43417822503 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Inclusive education emphasises upon
Options :

1. equity

2. segregation

3. equality

4. labelling

Question Number : 19 Question Id : 43417822503 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 43417822504 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following teaching-learning material will benefit inclusion of students with visual
impairment?

Options :

1. hand written notes

2. pictures and diagrams

3. maps and globe

4. audio tapes

Question Number : 20 Question Id : 43417822504 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 43417822505 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is not a characteristic of a middle school classroom rooted in socio-

constructivist frame?

Options :

1. Encouraging learners to learn from a variety of sources

2. Appreciate asking of questions by the learners

3. Promoting all learners to give identical answers and follow the same method

4. Giving opportunities for group discussion

Question Number : 21 Question Id : 43417822505 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 43417822506 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following hinders problem- solving skills among students?

Options :



1. Functional fixedness
2. Use of analogies
3. Establishing cause -effect relationships

4. Means end analysis

Question Number : 22 Question Id : 43417822506 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 43417822507 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following emotion is likely to be experienced by a student, when an activity is valued

by him but he is given very low control to execute that?
Options :

1. Anxiety

2. Boredom

3. Frustration

4. Shame



Question Number : 23 Question Id : 43417822507 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 43417822508 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion(A): A teacher should not give space to discuss children’s explanations of various

phenomenon.
Reason(R): Children are not capable of developing causal explanation on there are

Choose the correct option.

Options :

1. Both (A) and ( R) are true; and (R) is the correct explanation of (A)
2. Both (A)and (R) are true but (R) is not the correct explanation of(A)
3. (A) Is true but ( R) is false.

4. Both (A) and ( R) are false



Question Number : 24 Question Id : 43417822508 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 43417822509 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): it is important for a teacher to focus on development of children's metacognitive

capabilities

Reason (R ): When children become aware of their own beliefs and thinking, they become more

capable of regulating their own learning.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and ( R) are true but (R) is not the correct explanation of (A)

3. (A) is true but (R) is false



4. Both (A) and (R) are false

Question Number : 25 Question Id : 43417822509 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 43417822510 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Students are eager and motivated to learn when teachers:
Options :

1. Put them under stress and pressure to perform well in test.
2. Offer rewards for ‘success’ and punishment for 'failures'

3. Have complete control over the learning process.

4. Engage the learners and make them an integral part of the teaching - learning process



Question Number : 26 Question Id : 43417822510 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 43417822511 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While facilitating the learning of a new concept, a teacher should;
Options:

1. Ignore previous knowledge of students

2. relate new information with prior understanding of students
3. ignore social- cultural context of students

4, present information in disconnected chunks

Question Number : 27 Question Id : 43417822511 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 43417822512 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following does not illustrates a constructivist learning approach?
Options :

1. Multiple interpretations

2. Collaborative learning

3. Learning at individual pare

4. Rote memorization and verbatim recall

Question Number : 28 Question Id : 43417822512 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 43417822513 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following kind of goal-setting will intrinsically motivate students for learning?
Options:

1. Self -directed

2. Teacher - directed

3. Parent- directed

4. Peer- directed

Question Number : 29 Question Id : 43417822513 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 43417822514 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the teaching -learning process, errors analysis is
Options :

1. Irrelevant.

2. relevant only for students.

3. relevant only for teachers.

4. relevant for students as well as teachers.

Question Number : 30 Question Id : 43417822514 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 43417822515 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is smaller than f ?

Options :

Question Number : 31 Question Id : 43417822515 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :



Question Number : 32 Question Id : 43417822516 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A, B and C stand for different digits such that B is not a prime number.
fFABXx5=CAB,thenA+C=

Options :
1.7

Question Number : 32 Question Id : 43417822516 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.7

I3

Question Number : 33 Question Id : 43417822517 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ldentify the statement which is NOT true.
Options :

1. Between any two rational numbers, there are infinitely many rational numbers.

o Betweena positive rational number and a negative rational number, there is always a whole number.

3 Every non-zero rational number has a multiplicative inverse.

4. There exist a pair of rational numbers such that there is only one rational number between them.

Question Number : 33 Question Id : 43417822517 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

3T FYT F U=EH HIT, ST AT TR E

Options :

| T URET WS % & T AN T § T qIHT ST e 4|
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Question Number : 34 Question Id : 43417822518 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following numbers is divisible by 67

Options :
1. 53636

5> 46356
3. 46358

4. 43538

Question Number : 34 Question Id : 43417822518 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
3 F § H-HT T 6§ =g 27

Options :

1. 53636

5 46356

LN



4 43538

Question Number : 35 Question Id : 43417822519 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is greater than 12 x(— 3 +5)?

Options :
1 6x[—{=3+(— 2}
o A2 x[F+ [~ Bl

3 8x[(—3)— (2]

4 6X[(—3)+(—2)]

Question Number : 35 Question Id : 43417822519 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T TR A ETF 12 ¢ (— 3+ 5) T ARF 22

Options :
, =83

, 12x[3+ (-95)]

L 8% [(=3)=(2)]



4 0% [(=3)+(-2)]

Question Number : 36 Question Id : 43417822520 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A person marks his goods 30% above the cost price and allows 20% discount on the marked price. His loss/gain percent
Is

Options:
1. loss 4%
2. gain 4%

3. gain 10%

4. No loss/gain

Question Number : 36 Question Id : 43417822520 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR AT 0 T 1 59 7 9 & 30% e i o 2 e i e 20°% 51 2 1 S

Options :

1. Qi 5 4[1'“0

, T, 4%

3 ©IMH, 10%

4, T /AT T



Question Number : 37 Question Id : 43417822521 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The base of a prism is a pentagon. The sum of the number of faces, edges and vertices of this prism is
Options :
1. 15

Question Number : 37 Question Id : 43417822521 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Tt s TR T3 JoT 2| 79 159 o o, T o S o e Fam e

Options:
7. 15

Question Number : 38 Question Id : 43417822522 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
ABCDis aquadrilateral in which AC and BD bisect each other at right angles. Then, the quadrilateral ABCD is a

Options:

1. rectangle
2. trapezium
3. kite

4. rThombus

Question Number : 38 Question Id : 43417822522 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ABCD T =4 2, T AC 3T BD T ST 0 W T e 7] 7, T8 T3 -
Options :

. ST

2, e T

3 UET 2

. AT 2

Question Number : 39 Question Id : 43417822523 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



If an angle is 30 ° less than two times its supplement , then the angle is
Options :
1. 70°

5> 130°
3 110°

4. 90°

Question Number : 39 Question Id : 43417822523 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T IS IO ST TEH B H T A 30° FAL, AT RO

Options :

Question Number : 40 Question Id : 43417822524 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Angles of a triangle are in the ratio of 2: 3: 5. The sum of the smallest and largest angles of the triangle is
Options :

1. 90°



5> 126°
3 144°

4 162°

Question Number : 40 Question Id : 43417822524 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

%&ﬁ%ﬂﬁ%ﬁvﬁwwz: 3: ﬁ?igﬁﬁﬂ?&’ﬂaﬁmﬁ?wa%ﬁ?ﬁWW%
Options :

1.90°

5 126°
3 144°

4 162°

Question Number : 41 Question Id : 43417822525 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is not correct?
Options:

1. Atriangle can have all its angles acute.

o Sum of any two sides of a triangle is greater than the third side.



3 A triangle can have only one obtuse angle.

4. Sum of any two angles of a triangle is greater than the third angle.

Question Number : 41 Question Id : 43417822525 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
frferfaa o & i7-a1 o w2 781 22
Options :

1 Uﬁﬁﬂ—-rﬂ«, %mﬂaﬁmrﬁj 1T B T 2

, %&ﬁﬁ'ﬂaﬁ%r é“rﬂmaﬁwdm e 9= ¥ ST EET 2
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Question Number : 42 Question Id : 43417822526 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

1+x +xy +x%y .
is equal to

3+ 2y —x*
Options :

1+y
1. %43




1+-xy

x+ y

X—y
4. X%3

Question Number : 42 Question Id : 43417822526 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1+ x +xy + x%y
z
3+ 2x—x?

Options :

1+y
1. x+3

1+xy

Question Number : 43 Question Id : 43417822527 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

2

Ifx=—3,y=2andz=5, then what is the value of the expression (2}(3*; = 3:43;2 — X274+ xzzv]?



Options :
1. 93

2. /5

3. — 23

Question Number : 43 Question Id : 43417822527 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
L oy ! . 3 0 ) 3
A x = -3, y=2 AR z=5% AITT (2Xy—3xy" —Xz" +X"zy) T AH 127

Options :
7. 93

Question Number : 44 Question Id : 43417822528 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the product of (2x2 - 5x—4) and (2 + 7x + 8), if the coefficient of x2 is a, and the coefficient of x is b, then what is
the value of (a- b)?

Options :
1. 87



3. 45

Question Number : 44 Question Id : 43417822528 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
(Exz—ﬁx—4)~ﬁ?(x3—7)(—8)%Wﬁ,ﬂﬁxjmﬂﬂﬁ$a%meWbiﬂ‘T(a—b)ﬂ‘ﬂr?ﬁ%‘?

Options :
7. 87

Question Number : 45 Question Id : 43417822529 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Sx+8

If 3(7x + 4) =— 4x— 8, then what is the value of ?

Options :
4
1 3



(NS EN

Question Number : 45 Question Id : 43417822529 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

5x+8
T T =T 20

TR 3(Tx+4)=—4x 82 4

Options:

Question Number : 46 Question Id : 43417822530 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The internal length and breadth of the base of a cuboidal reservoir are 12m and 8m, respectively and its depth is 4m.

What is the cost of painting its internal surface excluding its top at 3 50 per m??
Options:
1. 8000



, 17,600
3. $12,800

4. 312,400

Question Number : 46 Question Id : 43417822530 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

R TRTTERTC U 31 290 3 ST 31 S7eaTs AT T8 JFeT: | 2m 31 Sin & 7 3 s dim 31 50 3 o’
T T Wﬂﬁmﬂ(ﬁww\ﬁm @E)ﬁ?m{ﬁi RO )

Options :

1. < 8000

, X 17,600
5 X 12,800

4 X 12,400

Question Number : 47 Question Id : 43417822531 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The radii of the bases of two right circular cylinders are in the ratio of 3 : 4 and their heights are in the ratio of 4 : 5,
The ratio of their curved surface areas is

Options :
1. 4:9



2. 3eh

3 5:12

4 7:12

Question Number : 47 Question Id : 43417822531 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

amaﬁmaﬁm W\’ﬁﬁwﬁhﬂwﬁw 2 3 T \;tals\eﬂ ﬁ4:5mq3ma‘%l Eiaia?ﬂ__rg
TR 1 S

Options :
1. 4:9

Question Number : 48 Question Id : 43417822532 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

There are two pieces of wire each of length 30 cm. Using one piece a square in formed and from the other piece an
equilateral triangle is formed. The ratio of the area of the square to that of the triangle is

Options :
1 4V3:9



5 9:44/3

3. V3:2

Question Number : 48 Question Id : 43417822532 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A 37 21 297 S T 2 s 30 cn B1 7T 9 208 9 0% 1 41 3 293 T e P e
ST s e g & e

Options :

. 43 09
, 9:43
3 V312

42:V3

Question Number : 49 Question Id : 43417822533 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A pair of dice is thrown simultaneously. The probability that the product of the numbers on the two dice is a prime
number is

Options :
1. 0



s | =

o =

Question Number : 49 Question Id : 43417822533 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
AN, ! Y i Yy Y [ N % : T 1
T 6 T 7% 1 O A1 T ST 2 1 T O 1 W] o e 1 T T G 2 o T &

Options :
1. 0

N
N

Question Number : 50 Question Id : 43417822534 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The mean of the five observations x+1, x+2,x 43, x+6,x+ 8 is 11, Then, the mean of the three middle observations
Is



Options :
1. 11

Question Number : 50 Question Id : 43417822534 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T T x+1, X+ 2, X+ 3, X+ 6, X+ STFTAT || 21 &= o A1 TE0 67 A1 B

Options :
1. 11

Question Number : 51 Question Id : 43417822535 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher introduced addition of 56 and 22, in following way:
56+ 22 =(50+6) + (20 + 2), then she adds all tens and all ones. Which strategy she adopt?

Options :



1. Comparison of numbers
2. Complementary addition

3. Division of numbers

4. Decom position of numbers

Question Number : 51 Question Id : 43417822535 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e TTRRT 7 56 ST 22 3 0 37 T T T a6, S W R 56+20=(50+6)+(20+2) o o e
T T T AT ST A | T A - R e

Options :

e T T
1, <

3 AT T W

4. TEITAT T e

Question Number : 52 Question Id : 43417822536 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the following specific objective “students will be able to complete ten simple arithmetic problems accurately
on a handheld electronic calculator quickly.” This objective belongs to :

Options :



1 Articulation level of Psychomotor domain
o Organization level of Affective domain
3. Precision level of Psychomotor domain

4. Responding level of Affective domain

Question Number : 52 Question Id : 43417822536 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 43417822537 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Reena has developed a tool to record the behaviours of her students such as participation in class activities,
completion of assignment, problem solving skills, regularity etc. The tool will give her information in the form of
absence or presence of those behaviours during the observation. The tool Ms Reena has developed is an example of



Options :

1. Anecdotal Record

2. Cumulative Record

3. Check list

4. Rating Scale

Question Number : 53 Question Id : 43417822537 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

gﬂ?ﬁmﬁﬂmum{w&fﬁ&w%d THI1 2 1 o T O3 3 e S 96 o 3 TRt | e o, e
T 51 O S, T QT 1 1T, e e 1 TS (AT | 7 el e 1
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Options :
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Question Number : 54 Question Id : 43417822538 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which among the following is NOT a desirable quality of an effective mathematics teachers?
Options :

1. Must create a stimulating atmosphere conducive to learning
5 Must possess the desire, passion and patience to facilitate the learning among children
3 Willing to learn new methods and strategies for introducing concepts to students

4. Help students in securing full marks in examinations and tests

Question Number : 54 Question Id : 43417822538 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T TeTTEs 5 ¥ 1.9 01 71O 3 U TR STEIT & o o0, g1 T8t o7

Options :
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Question Number : 55 Question Id : 43417822539 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



c

i & a i
Let; aﬂdg be any fractions, where 7 < =

i a+c c i’
Then = = = = Gt It is an example of :
Options :
1. Axiom
2. Theorem

3. Conjecture

4. Postulate

Question Number : 55 Question Id : 43417822539 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 43417822540 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A middle school mathematics teacher wanted to check the readiness of learners for introducing the topic of Algebraic
Equations. She gave following questions to assess their concepts. Which of these problems would be |east relevant for
the given purpose?

Options:

If you want to distribute 100 candies equally among 15 students, after keeping 5 for yourself, how many candies will
1. finally be left?

There are 6 candies and 8 chocolates in a bag. If you pick one sweet randomly, what is the chance that it will be a
o candy?

3. Plot the following on a (x-y) graph : (4, 3), (0, 2), (6, 10)

In asale, the price of an electric fan decreases by 10 %, if the decreased price is Rs 1200, what was the original price of
4, thefan?

Question Number : 56 Question Id : 43417822540 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T T ) SR 7 AT T 8 TV ST SRR oA o e e e e
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Options :
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Question Number : 57 Question Id : 43417822541 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A mathematics teacher encourages her students to use Heron's formula to find out the area of land in their houses,
gardens, terrace etc. The teacher is enabling her students to

Options :

1. Understand the formula

2. Apply the formula in real world situation
3. Analyse the formula

4. Verify the formula

Question Number : 57 Question Id : 43417822541 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 58 Question Id : 43417822542 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A middle school teacher was teaching area of geometrical shapes in the classroom. One of the students asked the
following question:

“Why the area of a figure is measured in square units?”

Which of the following statements is the most appropriate response to the question?

Options :
1. Drawing different figures on a graph paper and counting the number of squares to calculate the area
2. Drawing different figures on graph paper and counting the number of boundaries of the figures

3. Adding the measures of all the sides of a figure drawn on a graph paper to calculate the area

4 The area of a square is measured in square units and the area of a circle is measured in circle units

Question Number : 58 Question Id : 43417822542 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 43417822543 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Dienes , while teaching mathematics , a teacher should emphasize on
Options :

1. Rote learning of concepts and formulae

o Construction of mathematical concepts followed by abstraction

3 Abstraction followed by construction of concept

4. Solving real world problems

Question Number : 59 Question Id : 43417822543 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

g4 %agm, TTOTE UeTe 95 f37e7eF 1 39 W 9ecg &7 S=0:
Options:
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Question Number : 60 Question Id : 43417822544 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Due to Covid-19 pandemic, different institutions have shifted from off line mode examination to online mode of
examination, open book examination through online mode hence has become more popular. Open book, examination
focuses on

(a) assessing the higher-order thinking skills of learners
(b) asking direct questions

(c) compeling students to think convergently

(d) reading examination anxiety of learners

Which one of the following options is correct:
Options :
1. aandb

2. candd

3 ac and d

4, aandd

Question Number : 60 Question Id : 43417822544 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. a3ﬁTb

2. CaﬁTd

3 aﬁcaﬁl‘d

4. aaﬁTd

Question Number : 61 Question Id : 43417822545 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Gall bladder of a patient was surgically removed.
Which of the following dietary advice would be helpful to him?

Options :
1. Avoid high protein diet
2. Avoid high salt content in food

3. Avoid high fat food

4. Avoid green leafy vegetables



Question Number : 61 Question Id : 43417822545 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 62 Question Id : 43417822546 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

From among the following, identify the set of Vitamins which are stored in liver and are not required by our body on
everyday basis.

Options :
1. AC and E
2. BandC

3 A DB and K

4. AD,E and K



Question Number : 62 Question Id : 43417822546 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

3 9 P o o 9 0 61 e 0 1 7 5 W T 2 A T 1 € A T 2
Options :

. A CTIE

> BEUTC

, A.D,BFITK

. A, D ETIK

Question Number : 63 Question Id : 43417822547 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following represents correct set of the cells and their shapes in human beings

A—Nerve cell i) flat shaped

B- Red blood cell ii) disc shaped

C—White blood cell iii) long and thin

D — Muscle cell iv) changing shapes

E - Skin cell iv) long and branched
Options :

1 A=V, B—iii, C—ii, D~i, E-iv

5 A=Y, B—ii,C—iv, D—ii, E -

3. WA =i D= ag B

A A—iii, B—iv,C—v,D—i, E-ii



Question Number : 63 Question Id : 43417822547 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TET § TR 37 376 AT 3l (707 3 o SIH-97 92 92 THR 9 1 2 —
A — At witeTaRT
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C — 4 T ST

D — USfiF ST

E — =ar=IT ITaTeRT

|) T STH

i) SIT3ReRT SATER

i) ST TR e

V) FgeAal ATRR

V) TTEET TLT STRE T SR
Options :

1 A—(v), B—(iii), C - (ii), D~ (i), E - (iv)

- A—(v), B—(ii), C - (iv), D — (iii), E— (i)

2
3. A — (ii), B —(iii), C — (iv), D — (v), E— (i)
4 A—(iii), B—(iv), C —(v), D - (i), E - (ii)

Question Number : 64 Question Id : 43417822548 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose correct option.
Assertion (A) — The leaves of some water plants (hydrophytes) have waxy coating
Reason (R) — The waxy coating helps the plants to stay afloat in water



Options :

1. Als correct and R is correct explanation for A
5 A and R are correct but R is not explanation for A

3. Als correct but R is incorrect

4. Both A & R are incorrect

Question Number : 64 Question Id : 43417822548 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

=1 20 70 F9F Ulew TR @2 faehed 1 =99 i
HTH (A) : T T U (SATSTG) T Uil T FH 6T 7 T 21t 2|
FOT (R) - HIF 31 UL UTEIT 3l o7 3 30F o7d &7 H HeaT 2

Options :

, (A)TE 2 R (A) % foU (R) e e 2

(A) 3 (R) F1 WET & FAH (R), (A) T WEY ST T8 7 2

2

(A) wE E SR (R) TR 2

3

, (A) T (R) T Ter

Question Number : 65 Question Id : 43417822549 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Identity the body part of human beings based on the following characteristics
a) very hard

b) do not bend except at meeting point

Options :

1. Skeleton

2. Bones
3. Cartilage

4. Muscle

Question Number : 65 Question Id : 43417822549 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T3 SHevT 3 TR O a3 ST 3 9 A e -
a. STETEIF FIN

b. e S = % 78 ggar/ gl

Options :

Question Number : 66 Question Id : 43417822550 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

In which of the following systems of irrigations, is the water loss minimum?
Options :

1. Sprinkler systems

2. Drip System

3. Dhekli System

4. Rahut System

Question Number : 66 Question Id : 43417822550 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 43417822551 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Deepa takes a steel spoon and brings the outer side of the spoon near her face and observes her image init. Which of
the following statements correctly explains the kind of image she sees.



Options :

1. The outer surface of spoon acts like a concave mirror and forms a diminished image
2 The outer surface of spoon acts like a convex mirror and forms a diminished image
3 The outer surface of spoon acts like a concave mirror and forms an enlarged image

4 The outer surface of spoon acts like a convex mirror & forms an enlarged image

Question Number : 67 Question Id : 43417822551 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 43417822552 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The table below lists the melting points of a few metals & alloys. Based on this table identify which material will be
most suitable to be used in making the following electrical appliances?

Name of the metal | palting point in °C
Copper 1084
Brass 930

Lead 328
Nichrome 1150

Lead & Tin 200
Aluminium 660
Berylium Copper 865-955

Options:

1. Room heater element — Copper, Fuse wire — Aluminium

> Room heater element — Nichrome, Fuse wire — Lead & Tin

3. Room heater element — Beryllium Copper, Fuse wire — Lead & Tin

4. Room heater element — Lead, Fuse wire — Brass

Question Number : 68 Question Id : 43417822552 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 43417822553 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Two objects A & B are immersed in water and their weights are measured using a spring balance. The following table is
hased on the readings obtained

Object Weightof | Weight of Weightof | Force of up
ohjectinair | object in water | water thrust acting
(gm/Wt) (am/Wt) displaced [ on object
(gm/Wt) | (gm/Wt)

A X 55 Y 10

B 80 Q 5 l

Which of the following values would complete the table correctly
Options :
| X—65,¥-55,0~5,2-55

, X-5,Y-10,Q-75,2-5
3 X—65,Y-10,Q-75,Z-5

4 X—55,Y-65,Q-5,Z-80

Question Number : 69 Question Id : 43417822553 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

| K5, V=55 105,255

, X=55, V=10.0-7.2-5
5 K-8, V=10,9-75,Z-5
o K=38 V=85,0=5,7-%

Question Number : 70 Question Id : 43417822554 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following paragraph and fill in the blanks with the correct option

Every object is attracted by earth with a force which depends on

the _A of the object and acceleration due to gravity.

The _B of the object is equal to the force with which it is attracted towards earth. However, on the surface of moon
_C changesbut _D _remains same.

Options :
1. A- weight, B— mass, C—density , D - mass
5 A- weight, B —weight , C—density, D - mass

3. A—mass, B- weight , C—weight, D - mass

4. A—mass, B- weight , C—mass , D - weight

Question Number : 70 Question Id : 43417822554 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 43417822555 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose correct option

(Assertion) (A): A drum produces a low-pitched sound while a piano produces a high — pitched sound.
Reasoning (R): The amplitude of vibrations of the vibrating object determines the loudness of sound.

Options :
1. Als true and R provides the correct explanation for it.
> Both Aand R true but R is not the correct explanation.

3. Alstrue but R is false

4. Both A and R are false

Question Number : 71 Question Id : 43417822555 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 43417822556 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of these phenomena cannot be explained on the basis of Gravitational force?
Options :

1. Motion of planets around the sun

2. Occurrence of tides

3. Weight of an object

4. Occurrence of eclipses

Question Number : 72 Question Id : 43417822556 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 43417822557 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Four balls are thrown with same force on four different types of surface. On which surface type would the balls travel
the maximum distance?

Options :
1. Skating rink.
2. Sea beach.

3. Cemented road.

4. Wooden tiles.

Question Number : 73 Question Id : 43417822557 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 43417822558 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Aniron blade is dropped into a bluish solution. After about half an hour, the colour of the solution is found to have
changed to green and a brown coloured deposit is observed on the nail. Based on this information which of the
following can you conclude?

Options :
1 The green coloured solution is copper sulphate.
o The blue coloured solution is Iron sulphate.

3. The brown deposit on the blade is copper.

4. The brown deposit on the blade is rust (Iron oxide)

Question Number : 74 Question Id : 43417822558 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 43417822559 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Naphthalene balls that are used to repel moths and other insects are obtained from :
Options :
1. Coal tar

2. Coke

3. Eucalyptus trees

4. Turpe ntine

Question Number : 75 Question Id : 43417822559 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 43417822560 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An element ‘A’ reacts with water to form a solution. This solution turns phenolphthalein indicator pink.
Which of the following could be element ‘A’?

Options :

1. Carbon
2. Silicon
3. Sulphur

4. Sodium

Question Number : 76 Question Id : 43417822560 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 77 Question Id : 43417822561 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose the correct option:

Assertion (A): Stifling is applied to prevent the emergence of silk moth and preserve the silk for long period of time, in
the form of cocoon.
Reason (R) : Ahimsa silk is the silk gathered after silk moth emerges from the cocoon

Options :
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R is not the correct explanation of A

3. Alistrue butR is false

4. Ais false but R is true

Question Number : 77 Question Id : 43417822561 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 43417822562 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When an acid reacts with a base, which of the following is/are produced?
Options :

1. Only salt

2. Only water

3 Salt, water and heat

4. Salt and water

Question Number : 78 Question Id : 43417822562 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 43417822563 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To which of the following, can the wilting of a plant be attributed to?
Options :

1. Excessive transpiration

2. Excessive Photosynthesis

3 Excessive absorption of water

4. Excessive absorption of minerals

Question Number : 79 Question Id : 43417822563 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 43417822564 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

_X glands are present in pairs and releases hormones which regulates blood pressure. It receives orders to secrate
hormones from Y gland. _Y also secrete_Z hormone. What could he X, Y and Z respectively

Options :
1. Thyroid , Pituitary, adrenaline

2. Adrenal, Pituitary, growth hormone
3. Pancreas, Thyroid , insulin

4. Adrenal , Pituitary, adrenaline

Question Number : 80 Question Id : 43417822564 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 43417822565 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“Repulsion is a sure test to identify magnets” This statement is an example of
Options:

1. Observation
2. Inference
3. Prediction

a. Hypothesis

Question Number : 81 Question Id : 43417822565 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 43417822566 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to the NCF-2005 position paper on teaching of Science, which of the following is not true about science?
Options:

1. The predicative and explanatory power of science helps in understating systems of nature
2 Science is completely objective and value-neutral
3 Science has the potential to be emancipative or oppressive, beneficial or harmful

4. The methodology of science and its demarcation from other fields is a matter of philosophical debate.

Question Number : 82 Question Id : 43417822566 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 43417822567 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the statements given below and choose then correct option:
Assertion (A): Inclusion of socio-scientific issues in curriculum is helpful in elucidating the nature of science
Reasoning (R): Understanding of science is useful is making informed decisions in daily life.

Options :

1. Both assertion A and Reasoning R are true and R is its correct explanation
2. Both A and R are true but R is not its correct explanation

3. Als true but R is false

4. Both A and R are false

Question Number : 83 Question Id : 43417822567 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 43417822568 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following methods cannot be adopted to assess skills learners in a science classroom?
A) Project Work
B) Experimentation
C) Class test
D) Field Trips

Options:
1. A

Question Number : 84 Question Id : 43417822568 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 43417822569 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The main advantage of suing ICT resource for teaching of topic ‘Atoms and Molecules” could be to help in
Options :

1. Discussing information
2. Breaking the monotony of class
3. Visualizing microscopic phenomena

4. Reduce teaching burden

Question Number : 85 Question Id : 43417822569 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 43417822570 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A democratic Science teaching learning environment does not entail
Options :

1 sharing/expression of ideas
o respect for diversity
3. teacher authority

4. shared responsibility for learning

Question Number : 86 Question Id : 43417822570 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 43417822571 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is most desirable practice to be adopted by a teacher for introducing the topic friction?
Options :

1 Listing sharing information about the concept
o Defining the term friction’
3. Exploring student’s existing ideas

4. Reading the related text

Question Number : 87 Question Id : 43417822571 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 43417822572 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Shaziya asks students to compare the roots of grass with other weeds and write the difference between them.
Which of the following process skill is involved in this task

Options :

1. observing
2. classifying
3. inferencing

4. predicting

Question Number : 88 Question Id : 43417822572 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 43417822573 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Scientific attitude is related to which of the following -
Options :

1. belief in cause & effect relationship
2 willingness to put in hard work
3. potential to memorise

4. Willingness to spend more time in laboratory

Question Number : 89 Question Id : 43417822573 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 43417822574 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which amongst the following is incorrect about science?
Options:

1. Science is a particular way of looking at nature

2. Science is a rapidly expanding body of knowledge

3. Science is an interdisciplinary area of learning

4 Science is always an independent enterprise

Question Number : 90 Question Id : 43417822574 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Read the passage given below and answer the guestions/ complete
the statements.

Every time someone asks me what level of corpus, they should
amass so that can retire, my answer is, “you will never be able to
retire”. This is because if he is seeking security in a number (an
amount of money) he will never get it. There is nothing in the nature
of the money that can give us security in life.

One of the founding fathers of America, Banjamin Franklin, had
very rightly said, “Money never made happy yet, nor will it. There is
nothing in its nature to produce happiness. The more a man has, the
more he wants. Instead of filling a vacuum, it makes one”.

In the above quote, instead of ‘happiness’ read ‘security’. While it is
true that we need money to meet our basic needs of food, clothing,
and shelter, once those are satisfied money will not be able to solve
any of our problems.

Recently, | came across the interesting case of Meenaben and
Purshottambhai. This couple had been living in the USA for over 40
years. They had two sons who were well settled and living
independently. Over the years, the couple had accumulated
substantial wealth. They had a palatial house, four cars, properties
in the USA as well as India and many other assets.

About five months ago, Meenaben had a severe paralysis attack.
She is bedridden now. But they do not have enough social support

in that country. Purshottambhai explained, “We always thought

money would give us everything. We thought that with money, we
would be able to purchase all services we may need to live happily.
Therefore, we did not pay attention to other aspects of life such as
social connections or service to the community. We thought money
would give us all.”

Sub questions

Question Number : 91 Question Id : 43417822576 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The word “corpus” means

1) a dead body

2) amount of money spent

3) amount of money collected
4) a dead insect



Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 43417822577 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The word “amass” means
1) to collect

2) to spend

3) heavy

4) without weight

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 43417822578 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the sentence, “We always thought money would give us
everything.” Which word does ‘always’ qualify?

1) we

2) thought

3) money

4) everything

Options :
1.1
2.2
3.3
4.4



Question Number : 94 Question Id : 43417822579 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When Benjamin Franklin says, ‘Money never made happy
yet, nor will it.” He means:

1) Money can buy happiness.

2) Money has not been able to buy happiness.

3) Money and Happiness have nothing to do with each
other.

4) Money and happiness are made for each other.

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 43417822580 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

From the sentence, “The more a man has, the more he
wants”, we can infer that man is essentially

1) kind.

2) unsatisfied with what he has.

3) satisfied with what he has.

4) charitable.

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 43417822581 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Why does the author tell people they will never be able to
retire?

1) People are looking for security in wealth.

2) Things are always getting expensive.

3) People are unsatisfied.

4) Things are in short supply.

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 43417822582 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the sentence, “She is bedridden now. But they do not
have enough social support in that country.” The word ‘But’
is a

1) Noun

2) Preposition

3) Conjunction

4) Adverb

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 43417822583 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What did Meenaben and Purshottambhai realise about
money’?

1) Money would buy them happiness.

2) Money would give them all services.

3) Money would not give them everything.

4) Money would not give them happiness.

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 43417822584 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

From the passage, how do we know that Meenaben and
Purshottambhai were financially strong?

1) Their kids were settled in the US.

2) Meenaben was unwell due to a stroke.

3) They had a small house where they lived.

4) They had a palatial house and many properties in the

US and India.
Options :
1.1
2.2
3.3
4.4

Question Id : 43417822575 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the guestions/ complete
the statements.

Every time someone asks me what level of corpus, they should
amass so that can retire, my answer is, “you will never be able to
retire”. This is because if he is seeking security in a number (an
amount of money) he will never get it. There is nothing in the nature
of the money that can give us security in life.

One of the founding fathers of America, Banjamin Franklin, had
very rightly said, “Money never made happy yet, nor will it. There is
nothing in its nature to produce happiness. The more a man has, the
more he wants. Instead of filling a vacuum, it makes one”.

In the above quote, instead of ‘happiness’ read ‘security’. While it is
true that we need money to meet our basic needs of food, clothing,
and shelter, once those are satisfied money will not be able to solve
any of our problems.

Recently, | came across the interesting case of Meenaben and
Purshottambhai. This couple had been living in the USA for over 40
years. They had two sons who were well settled and living
independently. Over the years, the couple had accumulated
substantial wealth. They had a palatial house, four cars, properties
in the USA as well as India and many other assets.

About five months ago, Meenaben had a severe paralysis attack.
She is bedridden now. But they do not have enough social support

in that country. Purshottambhai explained, “We always thought

money would give us everything. We thought that with money, we
would be able to purchase all services we may need to live happily.
Therefore, we did not pay attention to other aspects of life such as
social connections or service to the community. We thought money
would give us all.”

Sub questions

Question Number : 91 Question Id : 43417822576 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The word “corpus” means

1) a dead body

2) amount of money spent

3) amount of money collected
4) a dead insect



Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 43417822577 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The word “amass” means
1) to collect

2) to spend

3) heavy

4) without weight

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 43417822578 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the sentence, “We always thought money would give us
everything.” Which word does ‘always’ qualify?

1) we

2) thought

3) money

4) everything

Options :
1.1
2.2
3.3
4.4



Question Number : 94 Question Id : 43417822579 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When Benjamin Franklin says, ‘Money never made happy
yet, nor will it.” He means:

1) Money can buy happiness.

2) Money has not been able to buy happiness.

3) Money and Happiness have nothing to do with each
other.

4) Money and happiness are made for each other.

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 43417822580 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

From the sentence, “The more a man has, the more he
wants”, we can infer that man is essentially

1) kind.

2) unsatisfied with what he has.

3) satisfied with what he has.

4) charitable.

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 43417822581 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Why does the author tell people they will never be able to
retire?

1) People are looking for security in wealth.

2) Things are always getting expensive.

3) People are unsatisfied.

4) Things are in short supply.

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 43417822582 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the sentence, “She is bedridden now. But they do not
have enough social support in that country.” The word ‘But’
is a

1) Noun

2) Preposition

3) Conjunction

4) Adverb

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 43417822583 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What did Meenaben and Purshottambhai realise about
money’?

1) Money would buy them happiness.

2) Money would give them all services.

3) Money would not give them everything.

4) Money would not give them happiness.

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 43417822584 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

From the passage, how do we know that Meenaben and
Purshottambhai were financially strong?
1) Their kids were settled in the US.
2) Meenaben was unwell due to a stroke.
3) They had a small house where they lived.
4) They had a palatial house and many properties in the
US and India.

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 4341781314

Question Shuffling Allowed : Yes

Question Id : 43417822585 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Read the extract given below and answer the guestions that follow by
choosing the best options:

What is this life if, full of care,

We have no time to stand and stare.
No time to stand beneath and boughs
And stare as long as sheep or cows.

No time to see, when woods we pass,
Where squirrels hide their nuts in grass.
No time to see, in broad daylight,
Streams full of stars, like skies at night.

No time to turn at Beauty’s glance,
And watch her feet, how they can dance.

Sub questions

Question Number : 100 Question Id : 43417822586 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In this poem, the poet makes use of to
portray the beauty of nature.

1) hyperbole

2) imagery

3) oxymoron

4) irony

Options:
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 43417822587 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The poem highlights
1) the importance of leisure in one’s life
2) how man is enjoying nature.
3) the importance of happiness in life.
4) how man is very satisfied.

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 43417822588 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
a) Man today is very worried.
b) Sheep and cows can give him relief.

1) (a)is right and (b) is wrong.
2) (b)is right and (a) is wrong.
3) Both (a) and (b) are right.

4) Both (a) and (b) are wrong.

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 43417822589 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Choose the correct statement.
1) The poet can see stars even during day time.
2) The sheep and cows are moving around the streams.
3) When they see the poet, the squirrels hide their
nuts.
4) The modern man has no time to spend in the lap of
nature.

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 43417822590 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘And watch her feet, how they can dance’. The figure of
speech used in this line is-

1) Simile

2) Metaphor

3) Personification

4) Hyperbole

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 43417822591 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In the lines “No time to see, when woods we pass, where
squirrels hide their nuts in grass”. The poet wants to
describe:

1) man'’s inability to feel happiness in his heart.

2) man’s inability to enjoy the simple things in life.

3) man’s inability to be happy.

4} man’s ability to enjoy pleasures.

Options:
1.1
2.2
3.3
4.4

Question Id : 43417822585 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the extract given below and answer the gquestions that follow by
choosing the best options:

What is this life if, full of care,

We have no time to stand and stare.
No time to stand beneath and boughs
And stare as long as sheep or cows.

No time to see, when woods we pass,
Where squirrels hide their nuts in grass.
No time to see, in broad daylight,
Streams full of stars, like skies at night.

No time to turn at Beauty’s glance,
And watch her feet, how they can dance.

Sub questions

Question Number : 100 Question Id : 43417822586 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In this poem, the poet makes use of to
portray the beauty of nature.

1) hyperbole

2) imagery

3) oxymoron

4) irony

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 43417822587 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The poem highlights
1) the importance of leisure in one’s life
2) how man is enjoying nature.
3) the importance of happiness in life.
4) how man is very satisfied.

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 43417822588 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Study the following statements:
a) Man today is very worried.
b) Sheep and cows can give him relief.

1) (a)is right and (b) is wrong.
2) (b)is right and (a) is wrong.
3) Both (a) and (b) are right.

4) Both (a) and (b) are wrong.

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 43417822589 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement.
1) The poet can see stars even during day time.
2) The sheep and cows are moving around the streams.
3) When they see the poet, the squirrels hide their
nuts.
4) The modern man has no time to spend in the lap of
nature.

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 43417822590 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘And watch her feet, how they can dance’. The figure of
speech used in this line is-

1) Simile

2) Metaphor

3) Personification

4) Hyperbole

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 43417822591 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the lines “No time to see, when woods we pass, where
squirrels hide their nuts in grass”. The poet wants to
describe:

1) man’s inability to feel happiness in his heart.

2) man’s inability to enjoy the simple things in life.

3) man’s inability to be happy.

4} man’s ability to enjoy pleasures.

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 4341781315

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 43417822592 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Mother tongue based multilingualism advocates that
1) all children begin schooling in their mother tongue or home language.
2) all children begin schooling in the language of the state.
3) all children begin schooling in English medium and in home language.
4) all children study Hindi as their first language.

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 43417822592 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mother tongue based multilingualism advocates that
1) all children begin schooling in their mother tongue or home language.
2) all children begin schooling in the language of the state.
3) all children begin schooling in English medium and in home language.
4) all children study Hindi as their first language.

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 43417822593 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rahul s a driver who moves from Bihar to Kerala where he picks up the Malayalam language within six month. Now he
speaks Malayalam very well. What is this known as?

1) Language learning

2) Language acquaintance

3) Language acquisition

4) Language programming

Options :



1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 43417822593 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rahul s a driver who moves from Bihar to Kerala where he picks up the Malayalam language within six month. Now he
speaks Malayalam very well. What is this known as?

1) Language learning

2) Language acquaintance

3) Language acquisition

4) Language programming

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 43417822594 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A learner while listening to a lecture attempts to gather the overall idea of the lecture and does not give much
importance to all the individual words. What strategy does she adopt for listening?

1) Bottom up processing

2) Top-down processing

3) Discriminating between key words

4) Recognizing coherence

Options :
1.1
2.2
3.3
4.4



Question Number : 108 Question Id : 43417822594 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A learner while listening to a lecture attempts to gather the overall idea of the lecture and does not give much
importance to all the individual words. What strategy does she adopt for listening?

1) Bottom up processing

2) Top-down processing

3) Discriminating between key words

4] Recognizing coherence

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 43417822595 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher provides learners of class VIl a text from a newspaper which she considers slightly above their language
level. Learners have to work with the text to do many tasks. What is this known as?

1) Comprehensible inputs

2) Incomprehensible inputs

3) Reading comprehension

4) Learning hypothesis

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 43417822595 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A teacher provides learners of class VIl a text from a newspaper which she considers slightly above their language
level. Learners have to work with the text to do many tasks. What is this known as?

1) Comprehensible inputs

2) Incomprehensible inputs

3) Reading comprehension

4) Learning hypothesis

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 43417822596 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which approach to language teaching-learning believes ‘Language is a habit’?
1) Communicative Language Teaching
2) Audiolingualism
3) Natural Approach
4) Cooperative Language Learning

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 43417822596 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which approach to language teaching-learning believes ‘Language is a habit’?
1) Communicative Language Teaching
2) Audiolingualism
3) Natural Approach
4) Cooperative Language Learning

Options :



1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 43417822597 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following are true of ‘scaffolding hypothesis”?
1) Learner can learn individually with the inputs of texts, their previous knowledge, their competence and writing.
2) Intermixing of themes and interactions.
3) Learners can reach levels of achievements (with other’s support) which they would be unable to reach
independently.
4) Each learner is independent and need to learn individually.

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 43417822597 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following are true of ‘scaffolding hypothesis”?
1) Learner can learn individually with the inputs of texts, their previous knowledge, their competence and writing.
2) Intermixing of themes and interactions.
3) Learners can reach levels of achievements (with other’s support) which they would be unable to reach
independently.
4) Each learner is independent and need to learn individually.

Options :
1.1
2.2
3.3
4.4



Question Number : 112 Question Id : 43417822598 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Foundational stage of schooling as per the National Education Policy (NEP) 2020 consists of
1) 3years of pre-school and classes I and II.
2) 3years of pre-school and classes |, I, 1Il, IV and V.
3) 5years of primary school.
4) 3years of pre-school

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 43417822598 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Foundational stage of schooling as per the National Education Policy (NEP) 2020 consists of
1) 3years of pre-school and classes | and II.
2) 3years of pre-school and classes |, II, 1Il, IV and V.
3) 5years of primary school.
4) 3years of pre-school

Options:
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 43417822599 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘Semantic cues’ in reading are prompts
1) that helps in decoding the word.
2) for the correct pronunciation of the word.
3) that supports the meaning-making process.
4) for identifying the grammatical form.

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 43417822599 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Semantic cues’ in reading are prompts
1) that helps in decoding the word.
2) for the correct pronunciation of the word.
3) that supports the meaning-making process.
4) for identifying the grammatical form.

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 43417822600 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ravish is reading an interesting article in a newspaper. He wants to get the over all ideas of the writer. What does he do
in his reading?

1) Scanning

2) Skimming

3) Reading to find specific details

4) Reading to write a report

Options :



1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 43417822600 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ravish is reading an interesting article in a newspaper. He wants to get the over all ideas of the writer. What does he do
in his reading?

1) Scanning

2) Skimming

3) Reading to find specific details

4) Reading to write a report

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 43417822601 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is receptive vocabulary?
1) Words are mostly spelt correct.
2) Words read between the lines.
3) Words that we use in writing and speaking.
4) Words that we recognise when we hear or see.

Options :
1.1
2.2
3.3
4.4



Question Number : 115 Question Id : 43417822601 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is receptive vocabulary?
1) Words are mostly spelt correct.
2) Words read between the lines.
3) Words that we use in writing and speaking.
4) Words that we recognise when we hear or see.

Options:
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 43417822602 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT correct about speaking?
1) Speaking means pronouncing the words correctly.
2) It involves responding to questions and making enguiries.
3) Speaking means participating in conversations and discussions.
4) It's the ability to speak fluently and coherently.

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 43417822602 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which one of the following is NOT correct about speaking?
1) Speaking means pronouncing the words correctly.
2) It involves responding to questions and making enguiries.
3) Speaking means participating in conversations and discussions.
4) It's the ability to speak fluently and coherently.

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 43417822603 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Knowledge about the form, describing and apply it in limited practice’ is known as
1) Teacher's grammar
2) Declarative knowledge
3) Language form
4) Procedural knowledge

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 43417822603 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Knowledge about the form, describing and apply it in limited practice’ is known as
1) Teacher’s grammar
2) Declarative knowledge
3) Language form
4) Procedural knowledge

Options :

1.1



2.2
3.3
4.4

Question Number : 118 Question Id : 43417822604 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A newspaper article which makes a case for no examinations for students up to class VIII, What is this writing known
as?

1) Narrative writing

2) Comparative writing

3) Persuasive writing

4) Creative writing

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 43417822604 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A newspaper article which makes a case for no examinations for students up to class VIII, What is this writing known
as?

1) Narrative writing

2) Comparative writing

3) Persuasive writing

4) Creative writing

Options :
1.1
2.2
3.3
4.4



Question Number : 119 Question Id : 43417822605 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is NOT true of study of literary texts in language classroom?
1) Literary texts are for appreciation and enjoyment.
2) Literary texts are cultural inputs for language learning.
3) Literary texts develop critical thinking and reflection.
4) Literary texts should be used to teach grammar.

Options:
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 43417822605 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is NOT true of study of literary texts in language classroom?
1) Literary texts are for appreciation and enjoyment.
2) Literary texts are cultural inputs for language learning.
3) Literary texts develop critical thinking and reflection.
4) Literary texts should be used to teach grammar.

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 43417822606 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A learner finds problem in recognising the letters and decoding words? What is this deficiency?
1) Dyslexia
2) Dysgraphia
3) Dysphonia
4) Speaking disability

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 43417822606 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A learner finds problem in recognising the letters and decoding words? What is this deficiency?
1) Dyslexia
2) Dysgraphia
3) Dysphonia
4) Speaking disability

Options :
1.1
2.2
3.3
4.4
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Mandatory or Optional : Mandatory
Number of Questions : 17

Number of Questions to be attempted : 17



Section Marks : 30

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Sub-Section Number : 1
Sub-Section Id : 4341781316
Question Shuffling Allowed : Yes

Question Id : 43417822607 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension

ToETt et 7 ToheT TR SEehT 8T & e 7147 2| B9 50 U =112 39
T T e S-9S S9Te St fohet ST ST S 39 U (99 S
UehTd e J SHe@HT 21T 27| STel aT%e 7@ ST 97| %8 3 3T S
T B4 & 3 STeeE i Fee] S i g § e e g Sea B
ST 9| S STHIWET 719 61 @S o 2T 97| T91 U B S 9
T 9T TET SR ST 8T ST 3 278 HoAdT STaT 377 2=
TG 7% FEn o a7 et % & o == T i o2t =i a@he-
Qe HerTeAT STTaT 2 foreft o772 worre < T8t & o2 ey 21 =1 uram)
ST 20 o1 A1 S 2 Tohg 21e: TiaeTa @l T 8 3 91 g, TN
ToRT T 71T TROTT T 12T To I e J 9T a9 S Ug i ST
T TG W Terershet e off $0 ST o7 It o 0T ot S gt
TEI T ST AT M o] Se@ 3 A= W foetl I &+
I 52 o9 5 5 999 =TT & 91 o7 R e ey e aeaT 20 37
% 3 fo du%mqﬁlié!"ﬁ EREEI KL B ST 39 FIE T
T g

Sub questions

Question Number : 121 Question Id : 43417822608 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



et e o1 Ty e o Tt & s AT ST 0
. ToretT & T%e =11 2 71 Taedt Tt 1 i aTeE 9 A
9T 2|
2. Topett 9 aTee 1T & Torehr g v & ot e o
3. Toreat o oTelie S 2t 2 e foradt i I fop
ST AT 2
4. forert ot forgt wga g 2t 2 o fereft v o oo

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 43417822609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TTITST o STTEN forei] el i S W@ o 1o70-
1. foreat = Tomior skt =iz
2. 39T HEt 1 e A =
3. WS @ R AT =
4. Toeft =em =1 59 39 W S==7 T

Options :

1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 43417822610 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TR AT ot EraT 2l
|. e B B
2. 27T EraT 2
3. A EETE
4. HifeamEaT

Options :

1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 43417822611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
foret o seeEH T E B
|. Toer & ==
e FmETEEa
3. U&=
4. T @S

I-J

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 43417822612 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TS T T T SR A U o
|. AREATE

3. Har = e g

4. FATFI T AT

I-J

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 43417822613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Qred-Ered a9t T2-8% G Wi @t & 91 2| T T
. Toett o wga wfem F HE
2. Tt = O ST B = TeT g 33!‘&131%?!‘%
o S0 U3 o TTH & S|
3. Toedt @ o 5= @ieaT & vaeT i 2
4. Taatt % = fow Sga oSt a1 i Aavawd]
2|

Options :

.

1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 43417822614 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



|. EEa-wred
™ [

2. HIIAI-JIehdl

3. TS

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 43417822615 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

=, e O

L =T TdeATH :em&'%n
. ITERA
2. Fame

4, I
Options:
1.1
2.2
3.3
4.4

Question Id : 43417822607 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension



Toett et o1 TRt o SeehT T2 | T2y 71T 21 B9 S Ui =i 3
99 O 9 g2-3< faormer St foret s=10 S o 399 v ey e
TS T J AEEEET BT 9T el S5 T@T AT 9| 5 o 298 |
T B & A AEeEH F Fe] S (S § i e g e we
ST U I STIET T W @A o S9T 97) 961 Uek 2 SE 9
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N1 9% F1ag off w1 et 9 & 90 521 oot ht fo2t = @re-
T e ot 2| et o var I oS S I e e B ure
T 2 1 A SR 2 T w1 T @ 2| 3T I g, T
fore 7T 21 oo 9 = TR I e § 9§91 S uSid
1 UEa o forerge o oft 30 wmor o i e o off S g
TE ST ST AT FAF FET I 3 A= T (e 9
T (ot = O T 990 =7TaT £ 97 279 1T e 96T B 9aT 27 3
Wled-gled qf ge-32 T Hf @t 2 =1 2) 5w o7 7= ot foehh
% = Toru dugmﬂ'ﬁ?fl‘é'ﬁ 8 I el T =W = SO 39 BT =T
&t T

Sub questions

Question Number : 121 Question Id : 43417822608 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Torett e o1 Ty Tt ot Tt & = AT ST 20
| ToreAt 5 SIT5S B1aT 2 3T TasT helT 31 1 a6 /A
SECRS
2. Toredt 1 aTeg we & Toeehr g @ & Tt g v
IR
3. Torett = ol il =it 2 R e 1 31 TR
T T 2
1. Tt i fodh e e e & ot e v 35 o

T Sy =
4T dugmﬂmﬁl

Options :
1.1
2.2



3.3
4.4

Question Number : 122 Question Id : 43417822609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TTEITST 3 SATAR fadt et i St @ o foro-
1. Terett =1 fmtor o =R
2. 39 ot o ety =T R
3, H%e @HT 1 FHE707 =T =7ter
4. Toett e F S ST W ST SR
Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 43417822610 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FTEEEH I FHE ¥t BT 2
|. A BT R
2. TIET EAT 2
3. A BT
4. Hifeam AT

Options :

1.1
2.2
3.3
4.4



Question Number : 124 Question Id : 43417822611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
forett & AT G
|. Toret o S=-ai=
 FAFTETEERE
3. UHE N
4. T @S

[

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 43417822612 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS §9 T U SR gaE I USa o
3. T E e e
4. FATHHE T AT

Options:

[

1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 43417822613 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



WEd-EEd O 9898 T W @ Bl Sd £ T T

AT TR 37 7 79 & -

. et FE aEq wm FEE T

2 ﬁﬁmriﬁsﬁuiméﬁalwﬁﬁ@m@p‘%
o 0T UE To wETH &1 S

3. Toedt @ o 5= @ieaT & vaeT i 2

4. Taatt % = fow Sga oSt a1 i Aavawd]
<l

.

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 43417822614 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
|. Wed-Fied
= [
2. HIdI-giehdl
3. Ted-=ed

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 43417822615 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



™, (= ™y
'ﬂl*ﬁ!WMﬂle%—-

|. oTw=

2. M

3. HAE

-

4. AT
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 4341781317

Question Shuffling Allowed : Yes

Question Id : 43417822616 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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T TR 04T % & oA o U 1S AT 0 1 G791
SEAHT T ST qER W A UEEH, % 7T ST whee &
T SH G T 3T AT 3 IToAT THT a0 78] feht &7 | 79
T, HATIHT TSI UTS ST AU, HATUhT HATETEd 1 Tl
ST SIS ST ST | Fareh FeamT i §E § AT 370
SATERUT il GERAT UL | 7R ATE AT AU AT 1 87
T A1 THIS ST TSt YT ST SATIhT &7 & 2777 AR
T SATSET 1 e 3T 237 W H 3cUTAT Il =€ IS o A8
TS 7 DI T |

TR Tfies #f SeR et & |, 3 oA ok
ek ATEHT el ATk 3= 3T 3= 2, ot stm=rm
=T T | S T % YE-5E H A WA T |

Sub questions

Question Number : 129 Question Id : 43417822617 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

- OSEd 31 A1k STeH FEt 3178 37=0 o 5= 2
1T T TR 168 T 37 2-

1. $4% UT ST STTET AT

2. e EE ad T T

3. TR g T I

4, ﬂﬁ?ﬁ'uﬁ\\ﬂl T A

Options :



1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 43417822618 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TTTeft o ey = F B T ST 5T 2-
|, SUTEAT gl

. &&T I @Rl

3. S ATES

4. T e

Options :

-3

1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 43417822619 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TSt O R S T =T o T 20
|, STERTYSI s
. ST S SUTET A B

o L (& =, S
. ST 3ol UL R ':htn%

-3

3

4. TS A=A A= E
Options:

1.1

2.2

3.3



4.4

Question Number : 132 Question Id : 43417822620 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

= I W o e A M, >, = T Ll
Ik H19H H TohH UG B |ehdl 27 19T ° iR
9T T AT 2-

. ¥THe

3. &

B,

4. ST

Options :

[

1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 43417822621 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“3TTYeRI" ST6E 2
1. &=

2. |

4. TR

Options :

L

1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 43417822622 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TETST T 2T=10 & 92y o 5 19 W &7 fea7 T 29
1. g &’aﬂw:ﬁrnﬁm

2. gEl T ST TSR AT
3. 7T T ST RIS

4. =99 3 FAT=A0T 3 SRl [T
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 43417822623 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
1. Wi+

2. WM+ IH

3. Wi+

4. 9fd+ %

Options :

1.1

2.2

3.3

4.4

Question Id : 43417822616 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 43417822617 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

- OSEd 31 A1k STeH FEt 3178 37=0 o 5= 2
1T T TR 168 T 37 2-

1. $4% UT ST STTET AT

2. e EE ad T T

3. TR g T I

4, ﬂﬁ?ﬁ'uﬁ\\ﬂl T A

Options :



1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 43417822618 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TTTeft o ey = F B T ST 5T 2-
|, SUTEAT gl

. &&T I @Rl

3. S ATES

4. T e

Options :

-3

1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 43417822619 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TSt O R S T =T o T 20
|, STERTYSI s
. ST S SUTET A B

o L (& =, S
. ST 3ol UL R ':htn%

-3

3

4. TS A=A A= E
Options:

1.1

2.2

3.3



4.4

Question Number : 132 Question Id : 43417822620 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

= I W o e A M, >, = T Ll
Ik H19H H TohH UG B |ehdl 27 19T ° iR
9T T AT 2-

. ¥THe

3. &

B,

4. ST

Options :

[

1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 43417822621 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“3TTYeRI" ST6E 2
1. &=

2. |

4. TR

Options :

L

1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 43417822622 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TETST T 2T=10 & 92y o 5 19 W &7 fea7 T 29
1. g &’aﬂw:ﬁrnﬁm

2. gEl T ST TSR AT
3. 7T T ST RIS

4. =99 3 FAT=A0T 3 SRl [T
Options :

1.1

2.2

3.3

4.4

Question Number : 135 Question Id : 43417822623 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
1. Wi+
2. WM+ IH
3. Wi+
4. 9fd+ %
Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 4341781318

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 43417822624 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T fmer it 2020 sueres T -

. T X T HTTHST 310 3 T1ea % %9 5

2. TaaTert fare o AR 991 § HT X T ST W67 (e area F Y
3. TSTeTOT T TTeT TS AYT AT ¥ [Ga% ¥ e =R

4. 9 T V111 TR SIGHTST ST 5 A WIS 3707 o6 e % w0 A

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 43417822624 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e famer it 2020 ST AT 2-

. ST X T HITHTST 2101 3 F1e79 o &9 F

0. Tereert Tore % TR 97 | FeT X 79 SIS o e e F '
3. TSTSIOT T HTERT T AYT SATHTEH  FGF § T AR

4. %9 9 9 T V11 T SIS ST T 2 97T {30 % w1 % w0 5

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 43417822625 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ST Hr@AT

. Tamameff 3 g S v E 2
. Tmeameff o g e T B

3. gE UF H@f&m FIE

4. Tarersh = 3 T AW

Options :

i

[

1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 43417822625 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
HTET T RgAT

1. Toremeft = 3T T o AE
2. Toreeft = g w= AT T B

3. I UF MFH T &

4. To1ereR & R0 TE T

Options :

1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 43417822626 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



freferias o 3 S17-9 20 it TG (S72H-379) STehiTer e 22
|. @ Taaor = v

2. TaRur Bl

3
Options :
1.1

2.2

3.3

4.4

Question Number : 138 Question Id : 43417822626 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
frefeafid & 3 S17-9T o0 1 STTET (S72H-370) ST T2 22
|, @ foawor At ves
o o
3. W fom e wreat wt Fa

[

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 43417822627 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Tt o T et el e o6 TreTen v 2, w0 e €
| e TS T

2,797 AFeTy

3 TR T A

4 3T T v

Options :

1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 43417822627 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
| TE 7O FraT

2 79T AT

3 TR T A

4 TR TS ST

Options :

1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 43417822628 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T U3 — U 7 3 -8 SUFTH T3t ST T3, STeet STTeRTe) et 37 AT, e 2 31 W o 2.
| SHiTE T

). TTTAR

3, IO T (e

Options :

1.1

2.2

3.3

4.4

Question Number : 140 Question Id : 43417822628 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS G2 — T3 1 1.9 ST, T3 STl JTeet AT 36 7 STTavereh 7l 2 1 W e 2-
| SHiTE T

). ST

3. TTOITeH: T e

Options :

1.1

2.2

3.3

4.4

Question Number : 141 Question Id : 43417822629 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Trafefad 3 & F9-9T AR aeh W9 3 Tare § 7e 27
|, EieRices 9TST 3T SIS T8 BT &
HHTersh “TST 2T AT 2

3. Hishtas W wdi ferardaT e o E

b 5y ™
4 e UF Wi AT

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 43417822629 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

fAfefed o © F1H-51 |ihae WT9T 3 Hae § Te7 27
I.  Wihfca WIS 3T SATEHTT FE1 B1T 2

2. WihIe WTHT T HTHTE

3. Wi sTar E et v
4  Fae U FiRaE T E
Options:

1.1

2.2

3.3

4.4

Question Number : 142 Question Id : 43417822630 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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|. STTET HTST 3T SeRieUeh HINT 3 B9 T 37599

. Taresft vraT =1 Sepfeuer U % BY o1

3. ﬁ*awagm‘r = muﬁmug\w_-ﬂ

4. Tommer fore & ot =21 O foreqor qres o &9 T 2=t

Options :

-2

1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 43417822630 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

—
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1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 43417822631 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 43417822631 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3

4.4

Question Number : 144 Question Id : 43417822632 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

| ]

1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 43417822632 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T 2t ar i o o e e (feeren e e 8 2 7 o o o e o ST A B
T ARG AT )

). TR AT

3. ¥ R o

4, yma e

Options :

1.1

2.2

3.3

4.4

Question Number : 145 Question Id : 43417822633 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 43417822633 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

& [ o ¥ i 3 [ 5
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Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 43417822634 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 43417822634 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 43417822635 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

1.1
2.2
3.3

4.4

Question Number : 147 Question Id : 43417822635 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 148 Question Id : 43417822636 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 148 Question Id : 43417822636 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 43417822637 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 43417822637 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 43417822638 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 43417822638 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4



